
Installation Guide   (For PSB-31)

C COPYRIGHTS 1998     REMACO TECHNOLOGIES PTE LTD                                                                                       Website: www.remacotech.com

PSB-31

V: 1.0

Important Notes:
All spider brackets are thoroughly inspected and fully tested operational in factory.
We accept no liability whatsoever for any losses due to improper operation, or any unauthorized alternation.
All trademarks contained in this installation guide are the property of their respective owners. 

M8  Nut (4 nos.)

A
d

ju
ta

b
le

 h
e

ig
h

t 
: 

5
cm

, 
6

1
c

, 
6

6
cm

 7
1

m
, 
7

6
c
m

,
8

1
c
m

, 
8

c
m

,9
1

c
m

s
5

m
,

c
 

6

Mounting Screws for LCD/DLP Projector:

M3 x 12 Pan Head Screw (4 nos.)
M4 x 12 Pan Head Screw (4 nos.)

M8 Anchors (4 nos.)

Ceiling
Plate

Lower Extension

Pan/tilt
swivel

Spider
hook

5
3

cm
 t
o

 8
9

cm
6

.5
cm

Upper Extension

M6 x 10 Cap Screw (4 nos.)

Ring Washer


	Page 1

